Colonial Equations Project 
Objective: 
The students will create equations while incorporating important U.S. history events.

Suggested Supplies: 
Paper (notebook paper or unlined paper)


Display (electronic): PowerPoint, MovieMaker, glogster.com, StoryJumper.com, PicCollage App, Splice App, Prezi.com, etc. 
Procedures: 


1. Write your name, math period, year, and event at the top 



    of a piece of notebook paper paper. 





2. Write one equation. The date you have been assigned is the


    answer to your problem. Incorporate all five processes into 


    your problem. (add/subtract, multiply/divide, distributive property, 



    combine like terms, variables on both sides of the equation)

          20 pts.



3. Show the simplification of your problem down to the date.    

          50 pts.



4. Take your paper to your teacher for first check. Your teacher


    will initial the paper after checking that the requirements in


    steps 1 – 3 are met. Do not proceed until equation is approved.

          
 


5. Create an electronic presentation display. Illustrate your project based 


    on your event. BE CREATIVE

          15 pts.



6. Why was this date important to US history? Write a


    paragraph explaining the significance of this event in history


    (opinions supported by facts.) What were other significant


    national and/or world events that occurred in this year? Describe the



    national and/or global impact of these events.    

          15 pts.
[image: image1.wmf]Example (using all 5 processes)
[image: image2.wmf] 
Assigned Year: _______


Event _______________________ ____________________________ ____________________________


____________________________








Teacher Initials: _____





Due Dates:





First Check Teacher Initials (step 4):





Monday, Sept. 16 








Final Project: Friday, September 27 


                      in Edmodo by midnight





The Birth of a Nation


1775


By Jane Smith – 1st period





11x – 3(3x – 5) = 5x – 5310








   11x – 9x + 15 = 5x – 5310








            2x + 15 = 5x – 5310


           -5x            -5x





–3x + 15 = –5310


–15 	  –15








–3x = –5325


   –3        –3








x = 1775











